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2y  0.66% (-5.1bp)

10y 145% (-5.1bp)

30y 218% (-4.9bp)
[7|Et 10Y=]

A= 0.68% (-2.8bp)
=4 -0.12% (-3.0bp)
A 0.10% (-2.8bp)
O|EtZ|0oF 1.16% (-3.0bp)
A Ol 1.01% (-7.0bp)
dz|a 7.98% (+7.8bp)
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2587 GDP(QoQ) 1.1% — 1.2% (0] Ak:2.6%)

79 O|A|ZFCHAH|XFAI 2| K]S 89.5 — 90 (0] AH90.5)

79 A|F}IPMI 56.8 — 55.8 (0f A5:54.0)
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CETF OHY 73, O 3ZR3M — 60
DOW30 1843224 (-0.13%)...
NASDAQ 5162.13  (+0.14%)
S&P500 2173.60 (+0.16%)

NIKKEI225  16569.27 (+0.56%)

SHANGHAI 2979.34 (-0.50%)

FTSE100 672443 (+0.05%)

DAX30 10337.50 (+0.61%)

CAC40 4439.81 (+0.44%)
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S2/28 11171 (+0.0097)

SE/4 114.09 (-2.48)

=he{/ol 102.06 (-3.21)

2He2/9/2t  6.6511 (-0.0086)

o2 /%e8) 132286 (+0.00678)
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WTI 41.60 (+1.10%)

COMEXZE@ 135750 (+1.20%)
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[Am 2016.19 (-0.24%)

TAE 706.24 (+0.35%)

QI/2e 112020 MUH| -4.20

*KTB: 111.14, M YH| -4El

*LKTB: 133.70, M &H| -33El

3y 1.216% (+1.3bp)
Sy 1.235% (+1.8bp)
10y 1.386% (+2.9bp)

Cch 1.360% (Obp)

3y -0.9bp (+2.2bp)
Sy -2.5bp (+2.5bp)

10y -12.0bp  (+2.5bp)
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1y  1.2400%

2Y  1.1950%

3Y 1.1950%

5y  1.1975%

7Y 1.2050%

10Y 1.2425%

1*2Y  -4.50

2*3Y  0.00

2*5Y  0.25

3*5Y  0.25

5*7Y  0.75

5*10Y 4.50

(+0.25bp)
(+1.00bp)
(+2.25bp)
(+3.00bp)
(+3.00bp)

(+3.00bp)

(+0.75bp)
(+1.25bp)
(+2.00bp)
(+0.75bp)
(Obp)

(Obp)
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0]2-72 HZQPMI (0] &:52.9, 6|AH52.9)

-78 ISMA| Z& 1PMI (0] :53.2, 0f|4H:53.0)

=279 HZQPMI (0] F:50.0, 0 AH50.0)

-7€ H|HZ=YPMI (0| ™:53.7)

-7¢8 Caixin N Z&=2IPMI (0|X:48.6, 0f 4:48.7)

o2=-79 HZEYUPMI (0|X:51.9, 0fAH51.9)

=979 F|Z=PMI (0|H:53.7, 0fAk53.7)

o279 H|ZPMI (0] M:49.0, 0| AH49.0)
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79l 225 0H(YoY) (0| M:-2.7%, O] Z=:-4.6%)

-7 =M (YoY) (0| M™:-7.7%, 0=:-9.5%)
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